Monthly averaged wind velocity by MF radar at Tromsoe for October 2012

North

mean sigma = 18.997

o
o
AR LEA

v o

8 12

mean sigma = 21.722

é

mean sigma = 20.891

by

16 20

mean sigma = 20.037

o

U/

mean sigma = 20.004

o

o
o
T

0

mean sigma = 19.369

o

a o
o O

&
S o

o
o

© [rrrrrTErTT T

mean sigma = 20.344

o

a o
o O

o

o &
3 o

© g

mean sigma = 18.884

o

a o
o O

a
o o

o 4
o

© [rrprEIT

o

o
o

° \?gw

o
o

S ¢
o

o
o
© [rrrprrTEII

o
o
© [T

o
o
© g

o ¢
o

East

mean sigma = 16.913

a o
o O

&
S

IMJ/WM\ ————— ﬁjf\"’/f;MM"

8 12 16

n
o

mean sigma = 17.343

a o
o O

&
S

a
7

©
S
>
3

mean sigma = 19.445

o

a o
o O

a
o O

, ”M\WW”

© [rrrrrTgerT

20

mean sigma = 19.522

o

0

mean sigma = 19.415

o

a o
o O

&
S o

mean sigma = 18.044

o

a o
o O

&
S o

mean sigma = 18.933

o

a o
o O

&
S o

mean sigma = 18.170

o

a o
o O

a
o o

© [rrrrrE T

o

106km

103km

100km

97km

94km

91km

88km

85km



o &
ISH=)

a o
o O

o

o &
3 o

o &
ISIR=)

a o
o O

o

o &
ISHR=)

a o
o O

o

o &
ISH=)

a o
o O

o

o &
3 o

Monthly averaged wind velocity by MF radar at Tromsoe for October 2012
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